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1. Introduction
This document presents revised simulation results for 10MHz LTE – 10MHz LTE coexistence scenario in downlink. Simulation frequency of 2GHz, cell range of 500m and urban area environment were considered.
2. Simulation results
Figure 1 presents revised simulation results of 10MHz LTE throughput loss in percent relative to the reference throughput without external system interference. Simulation assumptions and flow description are detailed in [1]. The results are revised because of different ACIR values calculations. As indicated in [2], the ACIR value is calculated as:
ACIR10-10 = PT,10MHz - ACI10MHz
Where PT,10MHz is the total transmit power in the 10MHz bandwidth of the aggressing LTE system and ACI10MHz is the adjacent channel interference in the victim 10MHz LTE UE receiver integrated over the entire 10MHz (equation does not account for pathloss). With 24 resource blocks in the 10MHz, each individual resource block sees 13.8dB lower ACI than the ACI10MHz.
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Figure 1. 10MHz LTE throughput loss in downlink 
3. Conclusion

In this contribution we have presented revised simulation results for 10MHz LTE – 10MHz LTE coexistence scenario in downlink for un-coordinated networks. It is proposed to include (revise) these results in RF system scenarios TR.
4. Reference
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R4-060353, “E-UTRA Radio Frequency (RF) system scenarios TR V0.3.0”, Siemens, RAN4#39
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R4-060592, “Simulation results for coexistence with LTE downlink aggressor”, Ericsson, RAN4#39
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